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@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab
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1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12
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@ e -3¢ ® 416 4 310

B

(4+3)(42 +3%)(4" +31)(4° + 3°)

= (4-3)(4+3)(42 +3%)(41 + 31)(4° + 3°)
= (42 -3%)(42 + 32)(4* + 31)(4* + 39)

= (4% - 3%)(4% + 3%)(48 + 3®)

= (45 - 3%)(4° + 3°)

— 416 _ 316
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a=(3+1)(32+1)-- (3102 4 1)

o] (3-1)2 FotdH

(B3-1)a=0B-1)B+1)(3%2+1) (3*+1)
(31024 < 1)

2a=(32-1)(32+1) (3*+1)--- (3192 +1)
=(3"-1) (3" +1)--- (31024 + 1)
— (38 _ 1) (31024 + 1)
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X2 +2y%) = 2(y? - 3x?%) = 7x?
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(x +y)% = x% + 3x%y + 3xy? +?
(x+y+2)2 =x2+y*>+ 22+ 2xy + 2yz7 + 2zx
(

Brl)s(x+1)=x2-x+1

© 4x-2)+(7-2x)=2x+5




6.  THHA (a—b)(a? +ab+ b?) < AAHEA?

® a®-b? (@)a3—b3
® a4 b? @ a® + 3ad%b + 3ab® + b3

® a® - 3a®b + 3ab® - b®

A 1 (a-b)(a® +ab+b?) =a-b3
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7. (a-b-c)>2 A AN

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca
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(a+ b)? = a® + 2ab + b?
(a—b)? =a®-2ab + b?
(a+b)(a-b)=a*-b*

® (a-b)(a®>+ab+b?) =a® - D>
®

(a+b)(a® —ab+b*) =a® +b?
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(a+b)a-b)=0" +®@

Q' =022
(a+b)(a-b) =D+ =a>-b?
. (a+b)(a-b)=a®-b*
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(x +4y)(3x) - (x +y)(x )
= 3x% 4+ 12xy — x% + 2
= 2x% + 12xy +y?2
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a®y? + b?x® — 2abxy = 0
=, (ay—bx)2 =0
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(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
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® -a®>+b>-c®+2ca @ a®-b%>+c%+2ab
@ a4 b% + 2 + abe @ a?-b%-c24 2

@a2 +b%—-c%-2ab
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(a=b+c)(a-b-c)
={(a=b)+c}{(a—b)—c}
=(a-b)?-c?

:a2+b2—C2—Qab




14.  (x3-3x243x+4)(x*4+2x-5) 5 AN Ao A x? 9] AFE FopA?

® 10 @ 15 ® 19 @ 21 @25
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AN A x2 32
i) (o1 x (AFAF) ol A 15x2 + 4x2 = 1952
i) (EAFH)x(LAFE) oA 6x2
L2 AFE19+6=25
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(5x% + 3x 4 1)(5x2 + 3x + 1) | A

1) (A% (L2 9] 3¢ 9x2

i) (1) x () o % 2 x 5x?
=, 5x2 + 5x% 4 9x% = 19x?
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17, (x-2y-32)%<& A/ xofl tiet dA=2 2 A 2)sa?

@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°
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® a* - 2ab - b* @ a* + 3b* - 2ab

@—a2 + 3ab - 2b° @ -a® + 3ab - b*

® -a® + 2ab - b?

oGBFH = 0ABCD - bAGHE - oEFCD
=ab - (a—b)* - b* = ab - (a*® - 2ab + b?) — b*
= —a® + 3ab - 2b?
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-
D 642 - 7ab + 2b* @ 3642 — 42ab + 12b?
@48a2 — 48ab + 122 @ 1242 - 12ab + 3b>

® 4842 + 48ab + 12b*

(6a — 3b)(8a — 4b) = 484> — 48ab + 12b?




